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® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t
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@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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@ 19.92 + 8 =249

@336+14=24

®2.24+7=0.32

@ 42.3+18 =235
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®852+6=1.42




D 4.32+6=0.72
@ 595+7=0.85
®496+4=1.24
@ 1.71+3 =057
® 5.28 + 8 = 0.66
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D 96+24-1.2 @ 9.6+24+1.2

® 96-12+24 @(9.6— 1.2) +24
® (96+1.2)+24

=24 249 B4 9.6 - 1.2 = 8.4(kg)
SES 1Y 71 8.4+ 24 = 0.35(kg)
A Ggh2 412 (9.6 - 1.2) + 24 JY T}
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@® 2.704 @ 2.7113 (@)2.718 @ 2.88 ® 2.876
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